	
	
	


Initials


Ecology (High School)

Version 1
This is a test that will help us to understand what you know about ecosystems.  Please answer these questions as carefully and completely as you can.  If you are not sure of the answer, please write about any thoughts that you have. 

	Please put your initials (not your full name) in the boxes
	
	
	

	
	First
	Middle
	Last


Date ________________

Class ____________________________ Teacher ___________________________

1. Carbon exists in different molecules or substances in nature. Please explain where carbon might exist in a forest. Complete the table below. 
	Question:
	YES or NO
	If YES, what form would the carbon be?

	Do you think you would find carbon in trees?
	
	

	Do you think you would find carbon in the soil?
	
	

	Do you think you would find carbon in animals, like deer and wolves?
	
	

	Do you think you would find carbon in bacteria in the soil?
	
	

	Do you think you would find carbon in the air?
	
	

	Where else might you find carbon?




A tree falls in the forest. After many years, the tree will appear as a long, soft lump barely distinguishable from the surrounding forest floor.
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2. The mass of the lump on the floor is less than the mass of the original tree.  Where would you find the mass that is no longer in the lump? In what form?

	


3. What caused the changes in the wood?  How did those changes happen?

	


4. There are microbes and insects living in and around the dead wood. Where do you think the microbes and insects get their energy?
	


5. A remote island in Lake Superior is uninhabited by humans. The primary mammal populations are white-tailed deer and wolves. The island is left undisturbed for many years. Select the best answer(s) below for what will happen to the average populations of the animals over time. 
_____a. The deer will all die or be killed.

_____b. The wolves will all die or be killed.

_____c. On average, there will be a few more deer than wolves.

_____d. On average, there will be a few more wolves than deer.

_____e. On average, there will be many more deer than wolves.

_____f. On average, there will be many more wolves than deer.

_____g. On average, the populations of each would be about equal.

_____h. None of the above. My answer would be: ______________________________

______________________________________________________________________

______________________________________________________________________________________________________________________________________________

6. Please explain your answer to what happens to the populations of deer and wolves. 
	


7. What is meant by the saying that farming consists of keeping an ecosystem at an early stage of succession?
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Grandma Johnson had very sentimental feelings toward Johnson Canyon, Utah, where she and her late husband had honeymooned long ago. Because of these feelings, when she died she requested to be buried under a creosote bush in the canyon. In the space below, describe the path of a carbon atom from Grandma Johnson’s remains, to inside the leg muscle of a coyote. 

NOTE: The coyote does not dig up and consume any part of Grandma Johnson’s remains. 

9. A tropical rainforest is an example of an ecosystem. Which of the following statements about matter and energy in a tropical rainforest is the most accurate? 
a. Energy is recycled, but matter is not recycled 

b. Matter is recycled, but energy is not recycled

c. Both matter and energy are recycled 

d. Neither matter nor energy are recycled

10. Explain your answer: 

	


